
Cut Sheet

 

2

13

4

 .66 

 .77  .63 

.26 

 1.76 

 .11 

 .50 

#8-32 THD

 .75 

 .16 1/4-28 THD

7/16"
Head

.37 

1/4" HEAD

.47 #8-32 THD

11/32" HEAD
 .20 

1) LUG, GROUNDING 2) BOLT, 1/4-28 x .750 HEX

3) BOLT, FLANGE HEX 8-32 X .5 IN SST
4) NUT, FLANGE HEX 8-32 SST

PART NUMBER DESCRIPTION WIRE SIZE RANGE (AWG)
PV-LUG-02-A1 GROUNDING LUG, LOW PROFILE 4-10

PROPERTY VALUE
MATERIAL TIN PLATED ALUMINUM

FINISH CLEAR

PROPERTY VALUE
MATERIAL 300 SERIES STAINLESS STEEL

FINISH CLEAR

ITEM NO. DESCRIPTION
1 LUG, GROUNDING, LAY-IN - LOW PROFILE
2 BOLT, 1/4-28 X .750" HEX CS SST
3 BOLT, FLANGE HEX 8-32 X .5 IN SST
4 NUT FLANGE HEX 8-32 SST

PROPERTY VALUE
MATERIAL 300 SERIES STAINLESS STEEL

FINISH CLEAR

PROPERTY VALUE
MATERIAL 300 SERIES STAINLESS STEEL

FINISH CLEAR

PV Module Grounding Lug (BX)

v1.30


